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Calculus

TABULAR RIEMANN SUMS | o
Sometimes the AP will ask you to find a Riemann sum, or to approximate an integral (same thing, right?),
but won't give you a function to work with. In:tad.tiwywﬂlgtveyouamblcofvdwforxmdﬂx).
These are quite simple to evaluate. All you do is usc the right-hand o left-hand sum formula, plugging
in the appropriate values for ). One thing you should watch out for is that sometimes the x values are
notc'vcn!yspawd,nomakcsumdwyouused:c,comctvaluuforchcwidth Let’s do
an example. L |
Example 4 Suppose we are given the following table of values for x and fx):
x 2 4 6 8 10 12
S5 10 13 15 14 9 3
Usc a right-hand Ricmann sum with 5 subintervals indicated by the data in the
12 ‘
fz f(x)dx.
Example 5: Given the following table of values for x and fx):
X 0 2 5 11 |19 22 23
) 4 6 Tie — J1s 22 29 50
Use a lefi-band Riesmann sum with 6 subintervals indicated by the dara in the table to approximate
» ;
[ flox.
"ProBuEM 6. Given the following table of values for f and fit):
|t 'RE 4 7 11 13 14
£ 5 6 10 f15 |20 2% 30
Use a right-hand Ricmann sum with 6 subintervals indicated by the data In the wble to approximare
‘P4 “ ) -
I . -
11 Suppmeweare given the following table of values for x and g(x):
x 0 | S 5 9 14
 g(%) 10 11 17 20 23

f:‘ g(x)dx.

Use a left-hand Riemann sum with 5 subintervals indicated by the data in the table to approximate
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ExamPIe 5: Given the following table of values for x and fx):

Clx o 2 5 11 19 22 23
: | A 4 6 116 18 22 129 50
' Use a left-hand Riemann sum with 6 subintervals indicated by the data in the table to approximate
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